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Sr Questions Answers Choice

1 The percentage of available heat energy converted into work by a petrol engine is roughly
A. 35 %
B. 40 %
C. 35 to 40 %
D. 25 %

2 The second law of thermodynamics is concerned with the circumstances in which
A. heat can be converted into work
B. direction of flow of heat
C. none of them
D. both of them

3 First law of thermodynamics tells us that heat energy can be converted into equivalent
amount of work, but it is silent about

A. how heat is absorbed
B. how heat extracted
C. how this conversion takes place
D. none of them

4 In a heat engine, heat is supplied by the
A. cold reservoir
B. sink
C. hot reservoir
D. none of them

5 The earliest heat engine was
A. petrol engine
B. diesel engine
C. electric engine
D. steam engine

6 A heat engine is that which converts

A. mechanical energy into thermal
energy
B. thermal energy into mechanical
energy
C. K.E into potential energy
D. heat energy into light energy

7 The example of irreversible process is
A. slowly liquification
B. slowly evaporation
C. an explosion
D. all of them

8 The example of reversible process is
A. an explosion
B. changes occur suddenly
C. slow compression of a gas
D. all of them

9 If a process cannot be retraced in the backward direction by reversing the controlling
factors, it is

A. a reversible process
B. an irreversible process
C. any one of them
D. both of them

10 A reversible cycle is the one in which
A. some of the changes are reversible
B. all of the changes are reversible
C. all of the changes are irreversible
D. none of them

11 A succession of events which bring the system back to its initial condition is called
A. reversible process
B. irreversible process
C. a cycle
D. none of them

12 In the reverse process, the working substance passes through the same stages as in the
direct process and

A. thermal effects at each stage are
exactly reversed
B. mechanical effects at each stage
are exactly reversed
C. thermal and mechanical effects at
each stage remain the same
D. thermal and mechanical effects at
each stage are exactly reversed

13 A process which can be retraced in exactly reverse order, without producing any change in
the surroundings is called

A. reversible process
B. irreversible process
C. any one of them
D. none of them

14 Heat required to raise the temperature of one mole of a gas through 1 K at constant
pressure is called

A. heat capacity
B. specific heat capacity
C. specific heat at constant volume
D. specific heat at constant pressure



D. specific heat at constant pressure

15 The heat required to raise the temperature of one mole of the gas through 1 K at constant
volume is called

A. heat capacity
B. specific heat capacity
C. molar specific heat
D. molar specific heat at constant
volume

16 The heat required to raise the temperature of one mole of the substance through 1 K is
called

A. heat capacity
B. specific heat capacity
C. molar specific heat
D. all of them

17 One mole of any substance contain
A. same number of molecules
B. different number of molecules
C. may be same or different
D. none of them

18 One kilogram of different substances contain
A. same number of molecules
B. different number of molecules
C. may be same or different
D. none of them

19 The curve representing an adiabatic process is called
A. isotherm
B. adiabat
C. adiable
D. none of them

20 Which of the following is not an example of adiabatic process

A. the rapid escape of air from a burst
type
B. the rapid expansion and
compression of air through which a
sound wave is passing
C. cloud formation in the atmosphere
D. none of them

21 Adiabatic change occurs when the gas
A. expands
B. compressed
C. expands or compressed
D. expands or compressed rapidly

22 In an adiabatic expansion, the temperature of the gas
A. increases
B. becomes zero
C. decreases
D. decreases rapidly

23 In an adiabatic process the work is done at the expense of the

A. energy supplied to the system
B. energy gained from the
surroundings
C. internal energy
D. none of them

24 A process in which no heat enters or leaves the system is called
A. isochoric process
B. isothermal process
C. adiabatic process
D. none of them

25 The curve representing an isothermal process is called
A. adiabat
B. isotherm
C. fixed temperature
D. none of them

26 In case of an ideal gas, the P.E associated with its molecule is
A. maximum
B. zero
C. minimum
D. not fixed

27 In which process the condition for the application of Boyle's law on the gas is fulfilled
A. isochoric process
B. adiabatic process
C. isothermal process
D. none of them

28 The process which is carried out at constant temperature is known as
A. adiabatic process
B. isothermal process
C. isochoric process
D. none of them

29 If 42 J heat is transferred to the system and the work done by the system is 32 J then what
will be the change in internal energy

A. 0 J
B. 2 J
C. 5 J
D. 10 J

30 The bicycle pump provides a good example of
A. first law of thermodynamics
B. second law of thermodynamics
C. third law of thermodynamics
D. none of them

31 A diatomic gas molecule has
A. translational energy
B. rotaional energy



31 A diatomic gas molecule has B. rotaional energy
C. vibrational energy
D. all of them

32 We can express the work in term of
A. directly measurable variables
B. indirectly measurable variables
C. either of them
D. both of them

33 If an amount of heat enters the system it could
A. decrease the internal energy
B. not change the internal energy
C. increase the internal energy
D. none of them

34 The work done on the system by the environment is considered as
A. positive
B. negative
C. zero
D. any one of them

35 The work done by the system on its environment is considered as
A. positive
B. negative
C. zero
D. any one of them

36 The internal energy of a system does not depend upon the
A. initial state of the system
B. final state of the system
C. path
D. none of them

37 In thermodynamics, internal energy is the function of
A. temperature
B. pressure
C. state
D. none of them

38 When two objects are rubbed together, their internal energy
A. remains same
B. decreases
C. remains the same then decreases
D. increases

39 The internal energy of an ideal gas system is generally the
A. translational K.E of molecules
B. vibrational K.E of molecules
C. rotational K.E of molecules
D. all of them

40 In the study of thermodynamics, which gas is considered as the working substance
A. real gas
B. ideal gas
C. any gas may be ideal or real
D. none of them

41 Internal energy is the sum of all the forms of
A. K.E
B. P.E
C. both of them
D. none of them

42 The volume of given mass of a gas will be doubled at atmosphere pressure if the
temperature of the gas is changed from 150°C to

A. 300<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°C</span>
B. 573<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°C</span>
C. 600<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°C</span>
D. 743<span style="color: rgb(84, 84,

84); font-family: arial, sans-serif; font-
size: small;">°C</span>

43 The absolute temperature for an ideal gas is

A. directly proportional to the
rotational K.E of gas molecules
B. directly proportional to the
vibrational K.E of gas molecules
C. directly proportional to the average
translational K.E.of gas molecules
D. directly proportional to the P.E. of
gas molecules

44 The Boltzman constant has the value

A. 1.38 x 10<sup>-23</sup>JK<sup>-
1</sup>
B. 1.28 x 10<sup>-23</sup>JK<sup>-
1</sup>
C. 1.38 x 10<sup>-26</sup>JK<sup>-
1</sup>
D. 1.28 x 10<sup>-26</sup>JK<sup>-
1</sup>

45 The ideal gas law is
A. P = nRT
B. V = nRT
C. PV =RT
D. PV =nRT



46 The pressure exerted by the gas is
A. directly proportional to the P.E
B. inversely proportional to the P.E
C. inversely proportional to the K.E
D. directly proportional to the K.E

47 While deriving the equation for pressure of a gas we consider the
A. rotational motion of molecules
B. vibrational motion of molecules
C. linear motion of molecules
D. all of them

48 The pressure of gas everywhere inside the vessel will be the same provided the gas is of
A. Non-uniform density
B. uniform density
C. high density
D. low density

49 If N is the total number of molecules and V is the volume of the container, then the
expression for the pressure of gas is

A. P=P/V&lt;1/2mv<sup>2</sup>&gt;
B. P=2N/V&lt;1/2mv<sup>2</sup>&gt;
C.
P=2/3N/V&lt;1/2mv<sup>2</sup>&gt;
D. P=2/3N/V&lt;mv<sup>2</sup>&gt;

50 Which of the following is not an assumption of kinetic energy

A. a finite volume of gas consists of
very large number of molecules
B. the gas molecules are in random
motion
C. collision between the gas molecules
are inelastic
D. the size of the gas molecules is
much smaller than the separation
between molecules

51 The behaviour of gases is well accounted by the kinetic theory based on
A. microscopic approach
B. macroscopic approach
C. both of them
D. none of them

52 A semi-conductor in its extremely pure form is known as
A. extrinsic semi-conductor
B. intrinsic semi-conductor
C. either of them
D. none of them

53 The materials in which there are plenty of free electrons for electrical conduction are known
as

A. conductors
B. insulators
C. semi-conductors
D. all of them

54 The materials in which valence electrons are bound very tightly to their atoms and are not
free, are known as

A. conductors
B. insulators
C. semi-conductors
D. all of them

55 The bands below the valence band are

A. completely filled and play active
part in conduction process
B. completely filled and plays no part
in conduction process

C. completely filled and play active
part in conduction process
D. not completely filled and play no
part in conduction process

56 The conduction band in a solid
A. may be empty
B. cannot be empty
C. should be filed
D. all of them

57 The electrons occupying the conduction band are known as
A. conduction electrons
B. free electrons
C. both of them
D. none of them

58 The band above the valence band is called
A. high energy band
B. conduction band
C. empty band
D. none of them

59 The valence band of an atom in a solid
A. is always empty
B. may or may not be empty
C. can never be empty
D. none of them

60 The electrons in the outermost shell of an atom are called
A. core electrons
B. valence electrons
C. high energy electrons
D. none of them

61 When a large number of atoms are brought close to one another to form a solid, each
energy level of an isolated atom splits into sub-levels, called

A. energy bands
B. energy shells
C. states
D. all of them



D. all of them

62 Electrons of an isolated atom are bound to the nucleus, and

A. can only have distinct energy level
B. can only have same energy level
C. may or may not have distinct
energy levels
D. none of these

63 Which of the following theory completely explain the three types of materials
A. Bohr model of electron distribution
B. Rutherford atomic model
C. Pauli's exclusion principle
D. energy band theory

64 Lead, copper and wrought iron are examples of
A. brittle substances
B. ductile substances
C. plastic substances
D. elastic substances

65 Glass and high carbon steel are the examples of
A. brittle substances
B. ductile substances
C. plastic substances
D. elastic substances

66 The substances which break just after the elastic limit is reached, are known as
A. brittle substances
B. ductile substances
C. plastic substances
D. elastic substances

67 Substances which break just after the elastic limit is reached, are known as
A. brittle substances
B. ductile substances
C. plastic substances
D. elastic substances

68 The maximum stress that a material can withstand, is known as
A. plastic point
B. elastic limit
C. yield point
D. ultimate tensile strength

69 when the deformation produced in the material become permanent, this type of behaviour
is called

A. proportionality
B. elasticity
C. plasticity
D. none of them

70 If the stress increased beyond the elastic limit of the material. the deformation produced in
the material will be

A. permanent
B. temporary
C. either of them
D. none of them

71 Under the elastic region, the deformation produced in the material, the deformation
produced in the material will be

A. permanent
B. temporary
C. either of them
D. none of them

72 The greatest stress that a material can endure without losing the proportionality between
stress and strain is called

A. plastic line
B. breaking point
C. proportional limit
D. none of them

73 In the stress-strain graph, stress is increased linearly with strain until a point is reached,
this point is known as

A. plastic limit
B. plastic deformation
C. proportional limit
D. elastic behaviour

74 The number of different crystals systems based on the geometrical arrangement of their
atoms and the resultant geometrical structure are

A. 5
B. 7
C. 9
D. 14

75 When the shear stress and shear stain are involved, then their ratio is called
A. Young's modulus
B. Bulk modulus
C. Shear modulus
D. all of them

76 In case of the three dimensional deformation, when volume is involved, the ratio of applied
stress to volumetric strain is called

A. Young's modulus
B. Bulk modulus
C. Shear modulus
D. all of them

77 The ratio of shearing stress/shearing strain is called as
A. Modulus
B. Pascal modulus
C. Hooker's modulus
D. Shear modulus

78 The ratio of linear stress/linear strain is called as
A. Yong's modulus
B. Bulk modulus
C. Shear modulus
D. Modulus

A. Nm<sup>-2</sup>
B. Nm



79 The units of modulus of elasticity are B. Nm
C. ms<sup>-1</sup>
D. Pascal

80 The modulus of elasticity can be written as
A. stress x strain
B. strain/stress
C. 1/2 x stress x strain
D. stress/strain

81 Experiments revealed that the ratio of the stress to the strain is a constant value for
A. different material
B. all materials
C. a given material
D. all of them

82 The SI unit of strain is
A. N
B. Dynes
C. Pascal
D. Dimensionless

83 The measure of the deformation in a solid when stress is applied to its is called
A. elastic constant
B. young's modulus
C. strain
D. elasticity

84 When a stress changes the shape, it is called the
A. compressional stress
B. tensile stress
C. shear stress
D. any one of them

85 When a stress changes length, it is called the
A. compressional stress
B. tensile stress
C. shear stress
D. any one of them

86 The SI unit of stress is
A. N/m<sup>2</sup>
B. Nmc
C. dynes/m
D. N

87 The force applied on unit area to produce any change in the shape, volume or length of a
body is known as

A. strain
B. elasticity
C. stretching
D. stress

88 The results of mechanical tests are usually expressed in terms of
A. stress
B. strain
C. stress and strain
D. neither strees nor strain

89 The ability of the body to return to its original shape is called
A. deformation
B. stretching
C. compressing
D. elasticity

90 The crystalline structure of NaCI is
A. rectangular
B. hexagonal
C. tetrahedral
D. cubical

91 The smallest three dimensional basic structure in a crystalline solid is called
A. lattice point
B. crystal lattice
C. cubic crystal
D. unit cell

92 Polymeric solids have
A. low specific gravity
B. high specific gravity
C. either of them
D. none of them

93 Synthetic materials fall into the category of
A. crystalline solids
B. amorphous
C. polymeric solids
D. all of them

94 On heating, glass gradually softens into a paste like before it becomes a very viscous liquid
at almost

A. 600<b style="color: rgb(34, 34, 34);
font-family: sans-serif;">°</b>C
B. 7600<b style="color: rgb(34, 34,
34); font-family: sans-serif;">°</b>C
C. 800<b style="color: rgb(34, 34, 34);
font-family: sans-serif;">°</b>C
D. 900<b style="color: rgb(34, 34, 34);
font-family: sans-serif;">°</b>C

95 Glass is an example of
A. crystalline solid
B. amorphous solid
C. polymeric solid
D. none of them

A. crystalline solids
B. polymeric solids



96 Amorphous solids are also called as B. polymeric solids
C. glassy solids
D. any one of them

97 Amorphous solids are also more like
A. crystalline solids
B. gases
C. liquids
D. any one of them

98 Every crystalline solid has
A. definite melting point
B. different melting points
C. may or may not be definite
D. none of them

99 The cohesive forces between atoms, molecules or ions in crystalline solids maintain the
strict

A. short range order
B. long range order
C. both of them
D. none of them

100 In metallic crystals which of the following thing remains constant
A. amplitude of oscillations
B. temperature of solid
C. average atomic positions
D. all of them


